
Bus amplifiers 

Ch 1-10 with Vr12a-Vr12b 
in mid position = 0.76V

Ch 1-10 with Vr12a in max 
and Vr12b in min = 1.12V

Ch 1 with Vr12a-Vr12b in mid 
and ch 2-10 on gnd = 1.12V
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send fo effects (reverb)

6DJ8l 6DJ8l 6DJ8l

6DJ8l 6DJ8l

250 Vcc

250 Vcc 250 Vcc250 Vcc

6.8 Hz in 38K6.8 Hz in 38K

2 Hz in 99K17 Hz in 1.4K17 Hz in 1.4K

Ch 1 with Vr11 in max 
and ch 2-10 on gnd

Ch 1-10 with Vr11 in max 

load = 38.4K

load = 38.5K

...

...

Ch 1-10 with Vr11 in min 
load = 51.7K

.

ch1 on bass & ch 2-10 on gnd
load = 99.3K

...

ch 1-10  on bass
load = 100K

Ch1 with Vr12a-Vr12b in mid
and ch 2-10 on gnd

Ch 1-10 with Vr12a-Vr12b 
in mid position

load = 31.3K

load = 1.4K

load = 1.4K
.Ch 1-10 with Vr12a in max 

and Vr12b in min

Ch 1-10 with Vr12a-Vr12b 
in mid position = 0.065V

= 3.12VVr11 on max 
Vr11 on min = 0.0 V

Ch 1-10 with Vr12a in max 
and Vr12b in min = 0.096V

if «send» is connected 
with return 

Vr11 on max = 2.85V

Ch 1 with Vr12a-Vr12b in mid 
and ch 2-10 on gnd = 0.097V

Ch 1-10 on bass= 0.151V

Ch 1 on bass and 
ch 2-10 on gnd = 0.150V

Ch 1-10 on bass= 1.76V
...with clipping

Ch 1 on bass and 
ch 2-10 on gnd = 1.74V

Ch 1-10 with Vr11 in max = 0.151V

Ch 1-10 with Vr11 in min = 0.258V

Ch 1 with Vr11 in max and ch 2-10 
on gnd                              = 0.148V

Ch 1-10 with Vr11 in max = 1.70V

Ch 1-10 with Vr11 in min = 2.94V

Ch 1 with Vr11 in max and 
ch 2-10 on gnd = 1.68V

Ch 1-10 with Vr11 in max = 0.115V

Ch 1-10 with Vr11 in min =  0.000V

Ch 1 with Vr11 in max and ch 2-10 
on gnd                              = 0.113V

Ch 1-10 with Vr11 in max = 1.68V

Ch 1-10 with Vr11 in min =  0.000V

Ch 1 with Vr11 in max and ch 2-10 
on gnd                              = 1.64V

Ch 1-10 on bass= 151V

Ch 1 on bass and 
ch 2-10 on gnd = 150V

Ch 1-10 with Vr12a-Vr12b 
in mid position = 0.98V

Ch 1-10 with Vr12a in max 
and Vr12b in min = 0.97V

Ch 1 with Vr12a-Vr12b in mid 
and ch 2-10 on gnd = 1.49V

Ch 1-10 with Vr11 in max = 1.5V

Ch 1-10 with Vr11 in min = 1.5V

Ch 1 with Vr11 in max and ch 2-10 
on gnd                              = 1.5V
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